#3406 B 118 (£ERQ)

R RENFEHIS (A15) 2B B #H

B ETHE: 1835 b+
(ERISHERESD)
fnfh &h EEHh ENFE = (ke) F oy b tExIER 5|
AH Y5 axt Hfike) | 2EEA) | ®EEAE) | REM) | SEME) | £EME) | REME)
130100 |[7ZLNC A # 16,145
dtiEE 3,440 1,465 1,975 10 2,376 2,322 1,296
LS 6,745 2,710 4,035 10 Z 376 1,296 2,484 1,728
F= 2,250 2,250 0 15 1,404
£E 1,140 0 1,140 5 356 130
e 2,400 2,400 0 10 2,484 1,944
130340 [;£ICALA ¥ 7,700
EE 5,200 100 5,100 10 1,728 1,836 648
G 2,500 0 2,500 10 1,253 713
130400 [Z (S5 3 444
L 300 0 300 10 - - - 1,512
130600 [NACA a3 788
32 788 0 788 5 - - - 4320 864
131100 [A 3 3 19,425
R 2,235 0 2,235 15 756 432
K% 17,190 8,490 8,700 15 2.592 1,080 3,402 810
131700 |F Y % 34,041
R 10,430 3,850 6,580 10 864 648 1,296 540
K& 2,120 1,420 700 10 1,296 1,080 1,296 864
50 6,920 4,690 2,230 10 864 432 1,080 486
£E 9,881 5,792 4,089 12 1,296 648 1,080 324
®me 4,690 3,260 1,430 10 864 972 324
131800 |[[(F5hAE % 2,268
R 80 0 80 0.2 151
Is; B 1,008 220 788 3.6 Z.592 3,024 1,674
EE 488 432 56 0.2 149 83 119
32 2 2 o[ o0.08 76
=i 180 0 180 45 2,700 1,350
131910 [FH=F % 2,053
N 65 3 63 0.5 302 302 292
£E 15 0 15 1 324
i L 260 0 260 1 864 216
F 1,173 80 1,093 5 1,350 2,700 324
iR 250 0 250 10 2,916
131950 |4 % 1,929




#3406 B 118 (£ERQ)

~

R RENFEHIS (A15) 2B B #H

B ETHE: 1835 b+
(gL HEREFST)
fnfh &h EEHh ENFE = (ke) F oy b tExIER 5|
AH 2Y5E Ext Hfike) | 2EEA) | ®EEA) | REM) | SEME) | $EME) | REME)
EH 1,854 330 1,524 3 1,728 1. 404 1,728 1,080
BE 75 0 75 3 972 702
133400 |LAR ¥ 18,210
K% 18,210 11,230 6,980 10 1. 836 864 2,160 55
134100 | A/ ¥ 16,406
B35 150 0 150 5 1,404
£E 286 104 182 10 2,484 2,376 2,376 2,052
®me 1,480 160 1,320 5 1,296 1,123 1,782 810
&Il 1,585 220 1,365 5 1,620 1,242 1,890 702
iR 4875 1,405 3,470 5 1,620 1,296 1,944 918
= 790 790 0 5 1,404 918
= 6,990 3,380 3,610 5 1,782 1,069 1,728 616
134200 |F I ¥ 3,580
KI5 1,640 0 1,640 10 2,430 1,782
AFT O 1,940 0 1,940 10 - - - 1,404 1,350
134300 |#nF 3 6,537
PN 144 8 136 4 1,836 1,890 1,296
®me 1,357 58 1,299 2 1,296 1,188 1,296 648
=L 4,001 894 3107 0.3 135 103 124 97
= 979 123 856] 0.3 162 162 151
134400 |F<+ % 6,464
=50 168 0 168 4 918
£E 1,478 0 1,478 7 2,165 1,771
=R 460 0 460 4 918 810
R 855 0 855 4 1,080 756
BE 1,895 138 1,757 4 1,188 972 972 756
134500 [E—< > % 9,745
=il 1,350 450 900| 0.15 76 59 162 54
= 1% 1,515 117 1,398 0.13 65 97 59
134700 | E58HACL 3 6,285
32 1,000 0 1,000 5 - - - 1,663 1,361
135100 [LNAVIF A 3 100
FFL 12 0 12 2 1,728 1,296
®me 12 0 12 2 3,240
= 26 0 26 2 3,780 2,160
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PR REFETS (KI5) BEB#HK
#3406 B 118 (£EA)

Frx ENFERHME 1835 bk
(ERISHERESD)
fnfh &h EEHh ENFE = (ke) F oy b tExIER 5|
AH 2Y5E Ext B {51 (kg) B [ HEE [ REE) | SEE) | pEE) | REE)
BRE 50 0 50 ] - - - 3,132 2,700
135200 | B = B 77
=25 42 2 40 /] 3. 294 3,294
135300 [E—X s 48
E[E 8 0 8 [] - - - 2,592
135500 [Z - = e 526
Ik B 526 0 526 0.18 - - - 238 86
136100 [MA L & s 7,765
FIE 215 0 215 5 2,430 1,566
®me 1,500 0 1,500 5 - - - 2,646 756
= % 115 0 115 5 3,240 2,808
136200 [ E#5Z 3 3,770
G 2,500 200 2,300 10 1,836 1,912 1,372
BRE 1,000 0 1,000 10 1,922
136210 | A—9 4> % 4,920
& 4,920 760 4,160 10 Z. 484 1,728 2,700 1,728
136300 | BB ¥ % 660
BRE 360 10 350 ] 540 702 108
fhE 300 0 300 10 1,728
136600 [f=F4a = 3 7,880
£E 7,880 5,950 1,930 10 1,814 950 2,052 1,512
138100 [ LU =1F 3 2,805
£E 375 55 3201 02 151 151 119
mE 1,678 30 1648 0.2 216 270 108
138500 |L&HLE ¥ 1,542
a4 1,538 462 1,076] 0.2 10 67 73 54
139200 |58 % 1,430
EEIT 1,160 110 1,050 10 8. 100 5. 400 8,640 5,400
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#3406 B 118 (£ERQ)

R RENFEHIS (A15) 2B B #H

= ENFERE 45
(gL HEREFST)
fnfh fnfh EEh ENFE = (ke) F oy b tExIER 5|
AH Y5 axt Hfike) | 2EEA) | ®EEAE) | REM) | SEME) | £EME) | REME)

240110 [/ \NDRH A # 1,212

FOaRL 718 172 546 4 3. 888 7,344 6,480
242320 (33 —ILk % 2,880

= 2,880 1,620 1,260 10 3. 564 1. 620 3,240 2,160
242830 [ S\CYAC ¥ 2,360

H 2,360 510 1,850 10 4,104 3. 456 4,104 2,160
243950 |FEH UH % 170

E 170 164 6] 0.25 378 7270
244010 [/\HRXB% ¥ 107

[IET 12 0 12 1 3,024

RIG 95 93 3] 0.25 378 194 270
244200 [FAELD 3 2,307

3 80 0 80[ 0.38 540 432

FFrL 2,227 1,263 964 ] 2,700
244530 |9 H% ¥ 949

ITE]] 29 0 29 1.8 4,320

FFRl 920 880 40| 0.5 302 210 238
245220 | T ITT SAEDS 3 443

PN 371 44 326] 0.3 432 378 486 356
245230 |[BIESES “ 104

£ 4 4 o] 035 864

=i 100 100 ol 0.25 513
246000 (V6T ¥ 699

EE 19 0 19] 03 378 324

E 193 84 109 03 486 432 486 432

B 240 72 168 0.24 432 216 432 194

RI& 247 67 180 0.3 454 432 454 432
247100 |[7—JLR A a3 342

E4 0 102 9 9| 8.5 9. 720 10,800 6,480

=50 240 0 240 8 5,184 3,240
247568 [FH3AQY ¥ 3,705

R 3,705 490 3,215 5 2. 268 1,944 2,376 864
248300 [EEHh 9 LVvA % 28,540

=50 6,900 825 6,075 15 3,888 3,780 4,320 1,188

S 18,135 7,394 10,742] 15.5 5. 400 1,944 5,400 1,944

1/2




PR REFETS (KI5) BEB#HK
#3406 B 118 (£EA)

= EHFERHE: 45 kv
(ERISHERESD)
e e EEHh 5T E = ke) F oy HY5E tExIER 5|
AH HY5E FExt Hiike | SEM) | $EE) | ®REME) | S@EE) | $EED | ZiEE)
RE 3,505 1,475 2,030 13 3,564 3,024 1,728
248800 [ F=F A/ a 1,176
REAR 1,000 0 992 10 - - - 2,160 756
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SF34E06 A 11H (&)

F A R RS T S (AE5) BHE H

R EIbng e = 11.4 %
(S I E B B )
4, . EN7EH (kg o wh5E RIS
2 4 — — filik HLAL - — — — —
AH wY5E RIS FEM AR ()| ZefiE(M) PEH EAE(D) | () | ZefE(M)
101 | RERT=\ 574 95 479 Kg | 1,080 216] e 1,296 162
102 |[ZHEIZW 2,358 2,358 Kg g 2,916 324
111 |H"EITED 1,902 3 1,899 Kg | 432 =20 1,188 204
113 | RROB®H 489 214 275 Kg [E=k 828 540| fe i 1,944 648
114 |5 -H 130 130 Kg R - 2,376 324
115 [HWi- 40 11 29 Kg |5 1,620 792| e 2,160 576
117 [13n 1,187 113 1,074 Kg |&fE 1,080 216] e 3,406 108
121 |[pbixE 49 12 37 Kg | 432 386 | fe i 648 324
134 |7=Z 260 212 48 Kg |&fE 1,100 700 | fe i 1,404 756
140 [512 24 24 Kg ) 43,200 13,500
147 [EX O 64 14 50 Kg |&fE 8,639 2,700( 78 6,000 3,000
158 | A LD 295 295 Kg JE IR 1,404 540
201 |Vl 1,014 1,014 Kg T3 351 126
203 |/hHL 51 51 Kg & I 378 309
205 |[FHC 70 70 Kg kL 302 144
206 [&iX 132 132 Kg kL 504 259
208 [0k 430 430 Kg = 756 251
209 [T Do 290 290 Kg KRy 691 605
210 [iFAve 522 438 84 Kg [&EIF 2,025 1,350 F IRy 2,025 1,458
AVIRES BN 60 60 Kg R 1,620 1,058
251 [KAFESA 62 62 Kg JE IR 2,430
252 |VWAEESA 48 48]  Kg ] 3,564
254 |[&bIEESAH 267 45 222 Kg |MF 1,436 5 1,620 994
303 [HAZEW 142 130 12 Kg |&E 432 108[7& )11 540 504
306 [WEXD 52 40 12 Kg [|EIR 720 648[E1FF 838 810
315 [7=698 45 35 10 Kg [|EIR 1,771 540 = 1RF 1,836
319 [&Hh5 145 30 115 Kg [HHL 648 FLJE . — 1,620 1,100
332 |1 EA BPE 186 186 Kg E|RES 1,890 1,404
R EE] 20 15 5 Kg [#[E 3,240 3,024] 10 12,960
354 [1ZEH 47 30 17 Kg [T 1,188 972| T 1,296 756
355 [HV 200 200 Kg REA. — 1,188 500
356 [LUA 45 10 35 Kg [ 1,620 S H 1,080 540
357 |RHE 32 32 Kg HEE[E] 1,728 1,296
358 [KxH 10 10 Kg [ 1,188
401 [Hwp 135 10 125 Kg [ZHm 972 8645 H 1,242 756
402 [H7pE 17 17 Kg B 4,752 3,240




PO T FR YL ISR T (AN Y) B H
SF34E06 A 11H (& H)

R EIbng e = 0.6 %
(S I E B B )

A . 7 4% B (kg) L HVFE FEXFELS |
2 4 — — filik HLAL - — — — —

AH HVFE FEXFELS | PEH e (P [ S ()| 22l (F) BEH (M) | P E(m) | Z2E(m)
512 | M 40 40 Kg E[RES 1,350 780
523 | BT 2O 248 248 Kg FE T 2,640 407
553 |1 EPN miE 110 110]  Kg B[RES 590
558 |FRfa 136 136 Kg B|&ES 950 756
560 |@ER7ZZ 3 3 Kg FE T 1,400
566  [#HERDNT 12 12 Kg BRERNE 4,104
576  [HERSS 80 80 Kg BlRERNE 1,620 720




SF34E06 A 11H (&)

F A R RS T S (AE5) BHE H

T EIbng e = 5.8 %
(S I E B B )

= ek Hh5E H%
:Stﬁ* o izl iﬁl (kg) _ e B \ _ 7 _ j JH | _

AH wY5E RIS PEHH AR ()| ZefiE(M) PEH EAE(D) | () | ZefE(M)
701 |[BVDHA 3,813 2,417 1,396 Kg | 1,723 432| fefiE 1,685 810
704 [WbLET 7 7 Kg s 972
705 [7=3<D 129 94 35 Kg [ILA 2,268 L 2,268
710 |95 HIF 8 8 Kg Koy 783
751 |E i 13 13 Kg R 1,131
755 [BFR&HLT 384 384 Kg BIRES 792 637
756 [BHET 120 120 Kg Koy 936 792
761 [BHudAiE L 408 12 396 Kg [IhE 1,188 1,127] % Zn - Fnak L 1,548 350
768 |&E-Z 5 5 Kg FE T 1,960
801 [HEALEIF 386 386 Kg E[RES 1,350 540
802 [HEXT 40 40 Kg JeviEE 918 734
805 [HXIT 408 408 Kg BIRES 778 281
807 [Hikko 1 48 48 Kg JeviEE 3,240
810 [T 8 8] Kg b 1,782




